
Recommend!! Get the Full PSM-I dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/PSM-I-exam-dumps.html (197 New Questions)

 Scrum
Exam Questions PSM-I

Professional Scrum Master I

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full PSM-I dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/PSM-I-exam-dumps.html (197 New Questions)

NEW QUESTION 1
Which three of the following are time-boxed events in Scrum? (Choose the best three answers.)

A. Release Planning.
B. Release Retrospective.
C. Sprint Retrospective.
D. Sprint Planning.
E. Sprint Testing.
F. Sprint 0.
G. Daily Scrum.

Answer: CDG

NEW QUESTION 2
A Scrum Team is only allowed to meet with stakeholders during Sprint Review.

A. True
B. False

Answer: B

NEW QUESTION 3
When is the Sprint Backlog created?

A. At the beginning of the project.
B. During the Sprint Planning meeting.
C. Prior to the Sprint Planning meeting.
D. During the Sprint.

Answer: B

NEW QUESTION 4
Which of the following is required by Scrum? (Choose all that apply.)

A. Sprint Retrospective.
B. Members must be stand up at the Daily Scrum.
C. Sprint Burndown Chart.
D. Release planning.
E. All of the above.

Answer: A

NEW QUESTION 5
When does the second Sprint start?

A. Once the architectural changes for the second Sprint have been approved by the senior architect.
B. After the Product Backlog for the second Sprint has been selected.
C. Immediately after the first Sprint.
D. After the customer completes acceptance testing of the first Sprint.

Answer: C

NEW QUESTION 6
Who creates a Product Backlog Item’s estimate?

A. The Development Team after clarifying requirements with the Product Owner.
B. The Product Owner with input from the Development Team.
C. The most senior people in the organization, including architects and subject matter experts.
D. The Scrum Master.
E. The Development Team, alone.

Answer: A

NEW QUESTION 7
Which statement best describes the Sprint Backlog as outcome of the Sprint Planning?

A. It is a complete list of all work to be done in a Sprint.
B. Every item has a designated owner.
C. Each task is estimated in hours.
D. It is the Development Team's plan for the Sprint.
E. It is ordered by the Product Owner.

Answer: A
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NEW QUESTION 8
When many Development Teams are working on a single product, what best describes the definition of “Done”? (Choose the best answer.)

A. Each Development Team defines and uses its ow
B. The differences are discussed and reconciled duringa hardening Sprint.
C. It depends.
D. Each Development Team uses its own but must make their definition clear to all other teams so the differences are known.
E. All Development Teams must have a definition of “Done” that makes their combined work potentially releasable.

Answer: D

NEW QUESTION 9
In order to achieve the benefits of Scrum, it is important to enact the value of commitment. What two actions demonstrate the commitment of Scrum Team
members? (Choose two.)

A. Always deliver the items in the Sprint forecast.
B. Help the other Scrum Team members.
C. Do your best
D. Send out a daily status report.
E. Work late.

Answer: BC

NEW QUESTION 10
Every Development Team should have:

A. At least one representative from each major software engineering discipline (like QA, Dev, UX).
B. The competencies and skills needed to deliver a Done Increment in a Sprint.
C. One Lead Developer and no more than 8 other members.

Answer: B

NEW QUESTION 10
During the Sprint Retrospective a Scrum Team has identified several high priority process improvements. Which of the following statements is most accurate?
(Choose the best answer.)

A. The Scrum Team may add items to the Sprint Backlog for the next Sprint.
B. The Scrum Team should choose at least one high priority process improvement to place in the Product Backlog.
C. The Scrum Team should decline to add a process improvement to the Sprint Backlog when things are running smoothly.
D. The Scrum Master selects the most important process improvement and places it in the Sprint Backlog

Answer: A

NEW QUESTION 14
The Product Owner is not collaborating with the Development Team during the Sprint. What are two valuable actions for a Scrum Master to take? (Choose two.)

A. Inform the Product Owner’s functional manager.
B. Stop the Sprint, send the Product Owner to a course and restart.
C. Bring up the problem in the Sprint Retrospective.
D. Coach the Product Owner in the values of Scrum and incremental delivery.
E. Nominate a proxy Product Owner.

Answer: CD

NEW QUESTION 18
A new developer is having continuing conflicts with existing Development Team members and creating the hostile environment. If necessary, who is responsible
for removing the team member?

A. The hiring manager is responsible, because he/she hired the developer.
B. The Scrum Manager is responsible, because he/she removes Impediments.
C. The Development Team is responsible, and may need help from the Scrum Master.
D. The Product Owner is responsible, because he/she controls the return on investment (ROI).

Answer: B

NEW QUESTION 21
Marian is the Product Owner envisioning a project for a new release of her product. She made a projection of a release date based upon a sustained velocity of 17
completed units of work per Sprint. Over the first 3 Sprints, the average velocity was 13 for work that the Development Team estimated as 90% done. The
Development Teams, feeling the need to meet the plan, figured that a velocity of 17 was within their reach.
A good way to continue is:

A. The Development Team makes sure that all of the selected scope per Sprint is as “Done” as possible.The undone work is estimated and added to the Sprint
Backlog of the next Sprint, so it doesn’t mess up the Product Backlog.
B. Add enough people to the Development Team for the deadline to be made.
C. The opportunity to inspect and adapt is los
D. Opaqueness has replaced transparenc
E. Predictability has dropped below zer
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F. The produced software is not usabl
G. As the rules of Scrum have not been respected, it is the Scrum Master’s duty to assess whether repair is possible, or a restart with a more reliable tea
H. If not, the Scrum Master should cancel the project.
I. The Development Team should remind Marian to find funding for enough Release Sprints in which the remaining work can be done.

Answer: A

NEW QUESTION 22
How should a Development Team deal with non-functional requirements?

A. Ensure every Increment meets them.
B. Make sure the release department understands these requirements, but it is not the Development Team’s responsibility.
C. Handle them during the Integration Sprint preceding the Release Sprint.
D. Assign them to the lead developers on the team.

Answer: A

NEW QUESTION 23
What are three benefits of self-organization? (Choose three.)

A. Increased creativity.
B. Increased rule compliance.
C. Increased accuracy of estimates.
D. Increased self-accountability
E. Increased commitment.

Answer: ADE

NEW QUESTION 24
What techniques could the Scrum Master use when the Scrum Team gets caught in an internal disagreement about which agile practices to apply? (Choose the
best two answers.)

A. Involve the complete Scrum Team in making a decision.
B. Use coaching techniques; such as open QUESTION NO:s and active listening.
C. Ask an external agile coach what they recommend.
D. Ask team members to take the issue up with to the company’s Human Resources department.

Answer: AB

NEW QUESTION 29
During a Sprint, when is new work or further decomposition of work added to the Sprint Backlog?

A. When the Product Owner identifies new work.
B. As soon as possible after they are identified.
C. When the Scrum Master has time to enter them.
D. During the Daily Scrum after the Development Team approves them.

Answer: B

NEW QUESTION 31
A member of the Development Team takes the Scrum Master aside to express his concerns about data security issues. What should the Scrum Master do?

A. Add security to the definition of “Done”.
B. Tell the Product Owner to stop further development of features until the issues are fixed.
C. Create a Product Backlog item for security.
D. Go check with the testers.
E. Ask the person to share the issue with the team as soon as possible.

Answer: E

NEW QUESTION 35
Every Scrum Team must have a Product Owner and Scrum Master. (Choose the best answer.)

A. Tru
B. Outcomes affected by their participation and availability.
C. Fals
D. A Product Owner can be replaced by a subject matter expert in the Scrum Team.
E. Fals
F. A Scrum Master is only required when asked for by the Scrum Team.
G. Tru
H. Each must be 100% dedicated to the Scrum Team.

Answer: A

NEW QUESTION 36
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When is it most appropriate for a Development Team to change the definition of “Done”?

A. During Spring Planning.
B. Prior to starting a new Sprint.
C. During the Sprint Retrospective.
D. Prior to starting a new project.

Answer: C

NEW QUESTION 40
Which of the following best describes an increment of working software?

A. A decomposition of all Product Backlog items into tasks for future Sprint Backlog lists.
B. Additional features in a usable state that complement those delivered in previous iterations.
C. A new user interface design for functionality delivered in previous iterations.
D. An automated test suite to verify functionality delivered in previous iterations.
E. UML diagrams that describe how to deliver functionality in future iterations.

Answer: B

NEW QUESTION 45
Which statement best describes a Product Owner’s responsibility?

A. Optimizing the value of the work the Development Team does.
B. Managing the project and ensuring that the work meets the commitments to the stakeholders.
C. Directing the Development Team.
D. Keep stakeholders from distracting the Development Team.

Answer: A

NEW QUESTION 47
User documentation is part of your definition of “Done”. However, there aren't enough technical writers for all teams. Your Development Team doesn't have a
technical writer. What should you do?

A. Form a separate team of technical writers that will work on an on-demand basis for the various Product Owner
B. Work order will be first in, first out.
C. Let the user documentation remain undone and accumulate until after the last development Sprin
D. It will then be done by any available technical writers.
E. Wait until you have a technical writer on your Development Team to take care of this.
F. Your Development Team is still responsible for creating user documentatio
G. In this case, the Development Team members will write it.

Answer: D

NEW QUESTION 50
When do Development Team members take ownership of a Sprint Backlog item?

A. At the Sprint planning meeting.
B. During the Daily Scrum.
C. Neve
D. All Sprint Backlog Items are “owned” by the entire Development Team, even though each one may be done by an individual Development Team member.
E. Whenever a team member can accommodate more work.

Answer: C

NEW QUESTION 53
Which Scrum Values are exhibited by not building Product Backlog items that have low business value? (Choose three.)

A. Economic Value Added.
B. Respect.
C. Focus.
D. Earned Value.
E. Courage.

Answer: BCE

NEW QUESTION 55
Which are NOT appropriate topics for discussion in a Sprint Retrospective? (Choose all that apply.)

A. Definition of “Done”.
B. How the team does its work.
C. Team relations.
D. The value of work currently represented in the Product Backlog.
E. Arranging the Sprint Backlog for the next Sprint.

Answer: AE
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NEW QUESTION 56
A product Increment must be released to production at the end of each Sprint.

A. True
B. False

Answer: B

NEW QUESTION 57
At the seventh Sprint Review, the stakeholders are disappointed and angry. They have determined that the product or system being built will not meet their needs
and will cost more than they are willing to spend. What
factors likely led to this? (Choose two.)

A. The Project Management Office (PMO) has not been engaged adequately.
B. The Product Owner has not been keeping the stakeholders aware of the progress of the project.
C. The stakeholders haven’t been using the Sprint Reviews to inspect and evaluate progress.
D. The stakeholders were not allowed to enter the development area.

Answer: AB

NEW QUESTION 62
At the end of a Sprint Product Backlog item worked on during the Sprint does not meet the definition of “Done”. What two things should happen with the undone
Product Backlog item? (Choose two.)

A. If the stakeholders agree, the Product Owner can accept it and release it to the users.
B. Put it on the Product Backlog for the Product Owner to decide what to do with it.
C. Review the item, add the “Done” part of the estimate to the velocity and create a Story for the remaining work.
D. Do not include the item in the Increment this Sprint.

Answer: BD

NEW QUESTION 64
A Scrum Master is introducing Scrum to a new Development Team. The Development Team gas decided that a Sprint Retrospective is unnecessary. What action
should the Scrum Master take?

A. Call a meeting between the Development Team and senior management.
B. Comply with the decision of the self-organizing team.
C. Consult with the Product Owner to see how he/she feels about the situation.
D. Begin facilitating productive and useful Sprint Retrospectives.

Answer: D

NEW QUESTION 68
Which statement best describes Scrum?

A. A defined and predictive process that confirms to the principles of Scientific Management.
B. A complete methodology that defines how to develop software.
C. A cookbook that defines best practices for software development.
D. A framework within which complex products in complex environments are developed.

Answer: D

NEW QUESTION 70
Why should the Product Owner be present at the Daily Scrum?

A. He/She doesn’t need to be there.
B. To hear about impediments in functionality.
C. To represent the stakeholders’ point of view.
D. To participate as a Scrum Team member.

Answer: A

NEW QUESTION 73
You are the Scrum Master on a newly formed Scrum Team. Which three of the following activities would probably help the team in starting up? (Choose three.)

A. Introduce a bonus system for the top performers in the team.
B. Have the Scrum Team members introduce themselves to each other and give a brief background of their skills and work history.
C. Have the development managers for each Development Team member introduce their direct reports and go over their responsibilities on the Scrum Team.
D. Ensure the Scrum Team members have compatible personalities.
E. Ensure the team understands they need a definition of “Done”.
F. Ask the Product Owner to discuss the product or project, its history, goals, and context, as well as answer questions.

Answer: BEF

NEW QUESTION 76
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Who is accountable for clearly expressing Product Backlog items? (Choose the best answer.)

A. The business analyst who represents the Product Owner.
B. The Product Owner.
C. The Scrum Master, or the Scrum Master may have the Developers do it.
D. The Scrum Master.

Answer: B

NEW QUESTION 78
Which of the following is an example of an Increment? (Choose the best answer.)

A. A plan for the overall product release.
B. A mock-up of the product marketing materials.
C. A design for the product.
D. A product roll-out plan.
E. A valuable, useful set of products featured.
F. All of the above.

Answer: F

NEW QUESTION 83
Which outcome is expected as Scrum Teams mature?

A. They will improve their definition of “Done” to include more stringent criteria.
B. The Sprint Retrospectives will grow to be longer than 4 hours.
C. There is no need for a time-boxed Sprint, since time-boxes are only for new Scrum Teams.
D. Sprint Reviews will no longer be needed.
E. A Scrum Master is no longer needed since they are a mature team now.

Answer: A

NEW QUESTION 84
You have just been hired by a company new to Scrum. Your management has assigned you to be the Scrum Master of six new Scrum Teams. These teams will
build one product. Select two conditions you should strive for in this scenario. (Choose two.)

A. There should be six Product Owners, one for each Scrum Team.
B. There should be six Product Owners, reporting to a chief Product Owner.
C. The product has one Product Backlog.
D. Each Scrum Team should have a separate Product Backlog.
E. There should be only one Product Owner.

Answer: CE

NEW QUESTION 85
During a Sprint Retrospective, the Development Team proposes moving the Daily Scrum to only occur on Tuesdays and Thursdays. Which two are the most
appropriate responses for the Scrum Master? (Choose two.)

A. Consider the request and decide on which days the Daily Scrum should occur.
B. Coach the team on why the Daily Scrum is important as an opportunity to update the plan.
C. Have the developers vote.
D. Learn why the Development Team wants this and work with them to improve the outcome of the Daily Scrum.
E. Acknowledge and support the self-organizing team’s decision.

Answer: BD

NEW QUESTION 87
What is the tactic a Scrum Master should use to divide a group of 100 people into multiple Development Teams?

A. Create teams based on their skills across multiple layers (such as database, UI, etc.)
B. Ask the Product Owner to assign the people to teams.
C. Ask the developers to divide themselves into teams.

Answer: C

NEW QUESTION 90
Which two of the following are true about the Scrum Master role? (Choose two.)

A. At the Sprint Review, the Scrum Master identifies what has been “done” and what has not been “done”.
B. The Scrum Master teaches the Development Team to keep the Scrum meetings to their time-box.
C. The Scrum Master helps those outside the team interact with the Scrum Team.
D. The Scrum Master assigns tasks to Development Team members when they need work.
E. The Scrum Master is responsible for updating the Sprint Burndown.

Answer: BD
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NEW QUESTION 94
What is the time-box for the Sprint Review?

A. As long as needed.
B. 2 hours for a monthly Sprint.
C. 4 hours for a monthly Sprint.
D. 4 hours and longer as needed.
E. 1 day

Answer: C

NEW QUESTION 98
The time-box for a Daily Scrum?

A. Two minutes per person.
B. 15 minutes.
C. 15 minutes for a 4 week sprin
D. For shorter Sprints it is usually shorter.
E. 4 hours.
F. The same time of day every day.

Answer: B

NEW QUESTION 102
What it the main reason for the Scrum Master to be at the Daily Scrum?

A. To gather status and progress information to report to management.
B. To write down any changes to the Sprint Backlog, including adding new items, and tracking progress on the burn-down.
C. He or she does not have to be there; he or she only has to ensure the Development Team has a Daily Scrum.
D. To make sure every team member answers the three questions.

Answer: C

NEW QUESTION 107
Why does the Product Owner want the Development Team to adhere to its definition of “Done”?

A. To have complete transparency into what has been done at the end of each Sprint.
B. To be able to reprimand the team when they don’t meet their velocity goal for the Sprint.
C. To know what the team will deliver over the next three Sprints.
D. To predict the team’s productivity over time.

Answer: A

NEW QUESTION 109
Who is responsible for managing the progress of work during a Sprint?

A. The Scrum Master.
B. The Development Team.
C. The Product Owner.
D. The most junior member of the Team.

Answer: B

NEW QUESTION 113
When must a Product Owner release each Increment? (Choose the best answer.)

A. When it makes sense.
B. When the Scrum Team finishes their work.
C. Whenever the product is free of defects.
D. After every Sprint, Without exception.

Answer: A

NEW QUESTION 115
What does it mean to say that an event has a time-box?

A. The event must happen at a set time.
B. The event must happen by a given time.
C. The event must take at least a minimum amount of time.
D. The event can take no more than a maximum amount of time.

Answer: D

NEW QUESTION 116
Which three of the following are time-boxed events in Scrum? (Choose three.)
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A. Release Testing.
B. Release Retrospective.
C. Sprint Retrospective.
D. Sprint Planning.
E. Sprint Testing.
F. Sprint 0.
G. Daily Scrum.

Answer: CDG

NEW QUESTION 117
Who starts the Daily Scrum?

A. The person coming in las
B. This encourages people to be on time and helps to stay within the time-box.
C. Whoever the Development Team decides should start.
D. The person who has the token.
E. The Scrum Maste
F. This ensures that the Development Team has the meeting and stays within the time-box.
G. The person who last broke the build.

Answer: B

NEW QUESTION 120
Who should make sure everyone on the Development Team does his or her tasks for the Sprint?

A. The Project Manager.
B. The Product Owner.
C. The Scrum Master.
D. The Development Team.
E. All of the above.

Answer: D

NEW QUESTION 122
How much work must a Development Team do to a Product Backlog item it selects for a Sprint?

A. A proportional amount of time on analysis, design, programming, testing, and documentation.
B. As much as it can fit into the Sprin
C. Any remaining work will be transferred to a subsequent Sprint.
D. All development work and at least some testing.
E. As much as it has told the Product Owner will be done for every Product Backlog item it selects in conformance with the definition of “Done”.

Answer: D

NEW QUESTION 123
Which does a self-organizing Development Team choose?

A. Sprint length.
B. How to best accomplish its work.
C. Stakeholders for the Sprint Review.
D. When to release, based on its progress.
E. Product Backlog ordering.

Answer: D

NEW QUESTION 124
A Scrum Team is a cohesive unit of professionals that consists of which of the following? (Choose all that apply.)

A. Users.
B. One Scrum Master.
C. Developers.
D. Customers.
E. One Product Owner.

Answer: BCE

NEW QUESTION 126
The Scrum Master observes the Product Owner struggling with ordering the Product Backlog. What is an appropriate action for the Scrum Master to take?

A. Suggest the Product Owner extend the Sprint, so he can have more time to order the Product Backlog.
B. Suggest that the Development Team does the ordering to be sure that it is a feasible ordering of work.
C. Offer the Product Owner help in understanding that the goal of ordering the Product Backlog is to maximize value.
D. Present the Product Owner with an ordered Product Backlog to use.
E. Encourage the Product Owner to work with the Development Team to see which items technically are fastest to implement.

Answer: B
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NEW QUESTION 131
When does the next Sprint begin?

A. When the Product Owner is ready.
B. Immediately after the conclusion of the previous Sprint.
C. The Monday following the Sprint Review.
D. Immediately following the next Sprint Planning.

Answer: B

NEW QUESTION 132
Which statement best describes the Sprint Review?

A. It is used to congratulate the Development Team if it did what it forecast, or to punish the Development Team if it failed to meet its forecast.
B. It is a demo at the end of the Sprint for everyone in the organization to check on the work done.
C. It is a mechanism to control the Development Team’s activities during a Sprint.
D. It is when the Scrum Team and stakeholders inspect the outcome of a Sprint and figure out what to do next.

Answer: D

NEW QUESTION 133
Who should know the most about the progress toward a business objective or a release?

A. The Project Manager.
B. The Scrum Master.
C. The Development Team.
D. The Product Owner.

Answer: D

NEW QUESTION 134
How do you know that a Development Team is cross-functional?

A. Development Team has all the skills to create a potentially releasable increment by the end of every Sprint.
B. A few of the Development Team members pair program and do Test Driven Development.
C. There are no conflicts within the Development Team.
D. Every member of the Development Team is able to perform every task.

Answer: A

NEW QUESTION 139
Multiple Scrum Teams working on the same product or system all select work from the same Product Backlog.

A. True
B. False

Answer: A

NEW QUESTION 142
You are the Scrum Master of a new, to be developed product. Development is going to require 45 people. What is a good first question for you to suggest the
group thinks about when forming into teams?

A. How will we make sure all teams have the right amount or expertise?
B. What is the right mixture of senior and junior people on each team?
C. Who are going to be the team leads?
D. Who are the subject matter experts on each team?

Answer: A

NEW QUESTION 145
Which of the following are roles on a Scrum Team? (Choose all that apply.)

A. Users
B. Scrum Master
C. Product Owner
D. Development Team
E. Customers

Answer: BCD

NEW QUESTION 147
What does it mean for a Development Team to be cross-functional?

A. The Development Team includes not only developers but also business analysts, architects, and testers.
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B. The Development Team includes cross-skilled individuals who are able to contribute to do what is necessary to deliver an increment of software.
C. Developers on the Development Team work closely with business analysts, architects, developers and testers who are not on the team.
D. The Development Team is a virtual team drawing from separate teams of business analysts, architects, developers and testers.

Answer: B

NEW QUESTION 152
Which best describes the Product Backlog?

A. It is allowed to grow and change as more is learned about the product and its customers.
B. It provides just enough information to enable a Scrum team to start the design phase of a product.
C. It contains all foreseeable tasks and requirements from which the Scrum team can develop and maintain a complete project plan.
D. It is baselined to follow change management processes.

Answer: A

NEW QUESTION 157
Scrum is a methodology that tells in detail how to build software incrementally.

A. True
B. False

Answer: B

NEW QUESTION 158
A Sprint Retrospective should be held:

A. At the end of each Sprint.
B. At the beginning of each Sprint.
C. Only when the Scrum Team determines it needs one.
D. At the end of the last Sprint in a project or a release.

Answer: A

NEW QUESTION 162
Who determines when it is appropriate to update the Sprint Backlog during a Sprint?

A. The Project Manager.
B. The Development Team.
C. The Scrum Team.
D. The Product Owner.

Answer: B

NEW QUESTION 166
Which two activities will a Product Owner engage in during a Sprint? (Choose two.)

A. Run the Daily Scrum.
B. Prioritize the Development Team’s work on the Sprint Backlog.
C. Update the Sprint burndown chart.
D. Answer questions from the Development Team about items in the current Sprint.
E. Work with the stakeholders.

Answer: DE

NEW QUESTION 169
Which three questions might be answered by Development Team members at the Daily Scrum? (Choose three.)

A. How is the Sprint proceeding?
B. What did I do yesterday that helped the Development Team meet the Sprint Goal?
C. Why were you late?
D. What will I do today to help the Development Team meet the Sprint Goal?
E. How many hours did I spend on the project yesterday?
F. What will I be working on tomorrow?
G. Do I see any impediment that prevents me or the Development Team from meeting the Sprint Goal?

Answer: BDG

NEW QUESTION 172
Which three behaviors demonstrate that a team is self-organizing? (Choose three.)

A. Stakeholders walking in at the Daily Scrum to check progress and work with the Scrum Master to optimize the functional scope for the Sprint.
B. The Development Team members are working within the boundaries of their functional description and nicely handing off work from analyst to developer to
tester to integration.
C. The Product Owner doesn’t need to be at Sprint Retrospectives.
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D. The Development Team creating their own sprint backlog, reflecting all work that is part of the definition of “Done”.
E. The Development Team has all the skills needed to create a releasable Increment.
F. Development Team members collaboratively selecting their own work during the Sprint.
G. The Development Team inviting external people to the Sprint Planning to ask them how to turn aProduct Backlog item into an Increment via a complete and
detailed Sprint Backlog.
H. The Scrum Master is no longer needed.

Answer: ABG

NEW QUESTION 173
The Development Team should have all the skills needed to:

A. Turn Product Backlog items into an Increment of potentially releasable product functionality.
B. Do all of the development work, except for specialized testing that requires additional tools and environments.
C. Complete the project within the date and cost as calculated by the Product Owner.

Answer: A

NEW QUESTION 176
What are two responsibilities of testers in a Development Team? (Choose two.)

A. Verifying the work of programmers.
B. Everyone in the Development Team is responsible for quality.
C. Tracking quality metrics.
D. Finding bugs.
E. Scrum has no “tester” role.

Answer: BE

NEW QUESTION 177
An organization has decided to adopt Scrum, but management wants to change the terminology to fit with terminology already used. What will likely happen if this
is done? (Choose the best answer.)

A. Without a new vocabulary as a reminder of the change, very little change may actually happen.
B. The organization may not understand what has changed within Scrum and the benefits of Scrum may be lost.
C. Management may feel less anxious.
D. All answers apply.

Answer: D

NEW QUESTION 180
The CEO asks the Development Team to add a “very important” item to a Sprint that is in progress. What should the Development Team do?

A. Add the item to the current Sprint and drop an item of equal size.
B. Add the item to the current Sprint without any adjustments.
C. Inform the Product Owner so he/she can work with the CEO.
D. Add the item to the next Sprint.

Answer: C

NEW QUESTION 182
What enhances the transparency of an increment?

A. Doing all work needed to meet the definition of “Done”
B. Reporting Sprint progress to the stakeholders daily
C. Keeping track of and estimating all undone work to be completed in a separate Sprint.
D. Updating Sprint tasks properly in the electronic tracking tool.

Answer: A

NEW QUESTION 184
When a Development Team determines that it will not be able to finish the complete forecast, who has to be present when reviewing and adjusting the Sprint work
selected? (Choose the best answer.)

A. The Development Team.
B. The Product Owner and all stakeholders.
C. The Product Owner and the Development Team.
D. The Scrum Master, project manager and Development Team.

Answer: A

NEW QUESTION 188
When is implementation of a Product Backlog item considered complete?

A. At the end of the Sprint.
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B. When the item has no work remaining in order to be potentially released.
C. When QA reports that the item passes all acceptance criteria.
D. When all work in the Sprint Backlog related to the item is finished.

Answer: B

NEW QUESTION 190
What is the recommended size for a Development Team?

A. 7 plus or minus 3.
B. At least 7.
C. 9.
D. 3 to 9.

Answer: D

NEW QUESTION 195
Who is responsible for clearly expressing Product Backlog items?

A. The Scrum Master, or the Scrum Master may have the Development Team do it.
B. The Scrum Master.
C. The Product Owner.
D. The business analyst who represents the Product Owner in the Development Team.

Answer: C

NEW QUESTION 196
Which two activities will a Product Owner engage in during a Sprint? (Choose two.)

A. Run the Daily Scrum.
B. Prioritize the Development Team’s work on the Sprint Backlog.
C. Update management on what is being worked on.
D. Answer QUESTION NO:s from the Development Team about items in the current Sprint.

Answer: CD

NEW QUESTION 198
How is management external to the Scrum Team involved in the Daily Scrum?

A. The Scrum Master speaks on their behalf.
B. The Development Team self-manages and is the only management required at the Daily Scrum.
C. Management gives an update at the start of each Daily Scrum.
D. The Product Owner represents their opinions.

Answer: B

NEW QUESTION 202
If burndown charts are used to visualize progress, what does a trend line through a release burndown chart indicate?

A. The evolution of the cost spent on the project.
B. When all work will be completed to the Scrum Team can be released for other work.
C. When the work remaining will likely be completed if nothing changes on the Product Backlog or the Development Team.
D. When the project will be over if the Product Owner removes work that is equal in effort to any new work that is added.

Answer: C

NEW QUESTION 206
Who is on the Scrum Team? (Choose all that apply.)

A. Scrum Master
B. Product Owner
C. Development Team member
D. Project Manager
E. None of the above

Answer: ABC

NEW QUESTION 209
Several Sprints into a project, the Product Owner tells the Scrum Master that a key stakeholder just started using the product. The stakeholder is unhappy with the
quality of the product. What are two good options for the Scrum Master? (Choose the best two answers.)

A. Wait to bring this up until the Sprint Retrospective.
B. Encourage the Product Owner to put quality specifications on the Product Backlog and express the stakeholder’s concern to the Developers.
C. Bring the concern to the testers to improve how the Product is verified.
D. Explain to the Product Owner that it is up to the Developers to decide on acceptable quality standards.
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E. Coach the Product Owner on how to talk with the Developers about this concern.

Answer: BC

NEW QUESTION 210
Which of the following are true about the length of the Sprint? (Choose two.)

A. The length of the Sprint should be proportional to the work that is done in between Sprints.
B. It is best to have Sprints of consistent length throughout a development effort.
C. Sprint length is determined during Sprint Planning, and should hold the time it will take to code the planned features in the upcoming Sprint, but does not include
time for any testing.
D. Sprint length is determined during Sprint Planning, and should be long enough to make sure the Development Team can deliver what is to be accomplished in
the upcoming Sprint.
E. All Sprints must be 1 month or less.

Answer: BE

NEW QUESTION 214
How often should Development Team membership change?

A. As needed, while taking into account a short term reduction in productivity.
B. Never, because it reduces productivity.
C. As needed, with no special allowance for changes in productivity.
D. Every Sprint to promote shared learning.

Answer: A

NEW QUESTION 216
The Sprint Review is mainly an inspect and adapt opportunity for which group?

A. The Development Team and stakeholders.
B. The Product Owner and Development Team.
C. The Scrum Team and stakeholders.
D. The Product Owner and management.
E. The Development Team and management.
F. The Product Owner and stakeholders.

Answer: C

NEW QUESTION 220
What are two good ways for a Scrum Team to ensure security concerns are satisfied? (Choose two.)

A. Postpone the work until a specialist can perform a security audit and create a list of security-related Product Backlog items.
B. Add security concerns to the definition of “Done”.
C. Add a Sprint to specifically resolve all security concerns.
D. Delegate the work to the concerned department.
E. Have the Scrum Team create Product Backlog items for each concern.

Answer: BE

NEW QUESTION 222
Which three purposes does the definition of “Done” serve? (Choose three.)

A. Guide the Development Team on how many Product Backlog items to select for the Sprint.
B. Create a shared understanding of when work is complete.
C. Describe the purpose, objective, and time-box of each Scrum event.
D. Describe the work that must be done before the Sprint is allowed to end.
E. Increase transparency.

Answer: BCD

NEW QUESTION 227
How do you know that a Scrum Team is cross-functional? (Choose the best answer.)

A. Scrum Team has all the skills to create an increment by the end of every Sprint.
B. A few of the Development Team members pair program and do Test Driven Development.
C. There are no conflicts within the Scrum Team.
D. Every member of the Scrum Team is able to perform every task.

Answer: A

NEW QUESTION 231
......
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